Additional checks
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Single particle simulation

e 20000 e- with p=1.5 GeV/c

e 20000 e+ with p=1.5 GeV/c

* Three different configurations
«* NO CGEM
¢* Old CGEM geometry (L1=L2=L3; cgemboss665f)
¢* New CGEM geometry (almost the final one) A

Xo =1.44%
Xo=1.8%



Additional checks: results

No difference observed in the barrel region, as expected

4000}

e- simulated

EnergyDep5x5

3500
3000F
2500

uniformly within: =«
0.85<c0sB<0.93 =%

1000

no cgem I
new | A

1600

1400

1200

1000

but BhaBha angular distribution is e (1+c0s26) the c.m.

3500}

3000}

e- simulated

uniformly within; =
0.925<c0s6<0.93

EnergyDep5x5

no cgem
new

old

Boss 665p01

1600

1400
1200

1000

800 [

EnergyDep5x5 {EnergyDep5x5>0.9}




BhaBha simulation
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BhaBha simulation
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20000 bhabha in the endcaps



First conclusion and open questions

e Simulation of new geometry is consistent

* Are there applied some cuts/requirements in the
analysis?

» All the samples are consistent each other? Are applied
the same requirements in the simulation?

Babayaga.Ebeam=1.5485; // Ecm = 2*Ebeam [GeV]
Babayaga.MinThetaAngle=16; // minimum angle(deg.)
Babayaga.MaxThetaAngle=164; //maximum angle(deg.)
Babayaga.MinimumEnergy=0.4;  //minimum energy (GeV)
Babayaga.MaximumAcollinearity=10; //maximum acollinearity (deg.)

* |s it possible to simulate single electron/positron?



